ttenham Primary School English Medium Term Overview

Year Group 1
Summer
_ Weekly objectives (Linked to Text feaftures (to be RVI words N
Text type Key texts Final Outcome R A taught in week 1 of Handwriting
Twinkl progression) .
unit)
Week 1: To understand the Wonder Joiners:
features of the text Ripe Week 1- arm to boat
Tangy Week 2- arm to boat
Week 2: To write in the Week 3- arm to boat
present tense using -ing. Week 4- arm to boat
Narrative Children write
Handa’s Surprise their own Week 3: To use adjectives Non-joiners:
Weeks 1-4 .
journey story Week 1- around letters
Week 4: To write a narrative Week 2- down letters
Week 3- down with
Starters: Vowels and around letters
Consonants Week 4- curly letters to
down letters
Week 1: To understand the Loomed Joiners:
features of the text Clambered Week 1- arm to sun
Magnificent/majestic | Week 2- arm to sun
Week 2: To use exclamation Thrilled Week 3- arm to sun
marks Tedious Week 4- arm to sun
Children write a
Recount My day trip to report about a Week 3:To sequence Non-joiners:
Weeks 5-8 London trip they have sentences Week 1- curly letters with
been on around letters
Week 4: To write a recount Week 2- zig zag letters
with all other letters
Starters: compound words Week 3- around letters
Week 4- down letters
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Week 1: To understand the Revision of this years | Joiners:

features of the text words Week 1- arm to sister
Week 2- arm to sister
Week 2: To use adjectives Week 3- arm to sister

Week 4- arm to sister
Week 3: To use similes

. . Non-joiners:
Poetry TBC Ch}ldren write Week 4: To write a poem Week 1- down letters
Weeks 9-12 their own poem .

with around letters

Week 2- curly letters to
down letters
Week 3- curly letters with
around letters
Week 4- zig zag letters
with all other letters

NB: Each day without RVI to have a 5 minute retrieval grammar activity for children to complete on entry into the classroom

New unit expectations:

Cold task

Elements of TfW-every unit will have text and text map
Sequencing text

Looking for text features

Hot task at end of unit
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